Office hours today: after class (Remo), 3:30-4:30 (Zoom)
Midterm Q&A: Monday, 5-7pm (Zoom link on Canvas)
Learning Goals for today:

* To calculate heat based on the area under the curve on a T-S
diagram.

* To geometrically evaluate the efficiency of an engine cycle
displayed on a T-S diagram.

* To describe the Carnot Cycle and explain why it has the
highest efficiency for any cycle between reservoirs of two
fixed temperatures.
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TA The entropy and
temperature are plotted
200K + f > , for a certain isothermal
process. How much heat
was added during the
process?

' >g A) 4000 J
2034, 303/
B) 8000

C) 10000

1S = D) 12000

F) 16000 J
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The entropy and
temperature are plotted
for a certain isothermal
process. How much heat
was added during the
process?

A) 4000
B) 8000

C) 10000

F) 16000 J
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What is the net heat that enters
the gas during the cycle shown?

A) 4k
B) 8k
C) 12k
D) 24kJ

E) 32kJ
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What is the net work done by
the gas during the cycle shown?

A) 4k
B) 8k
C) 12k
D) 24kJ

E) 32kJ
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What is the efficiency of the
engine described by the cycle
shown?

A) 0.333

B) 0.400

C) 0.500

D) 0.666

F) 1.000
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What is the efficiency of the
engine described by the cycle
shown?
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What is the efficiency of the
engine described by the Carnot
cycle shown?

A)T. /T,

B) (T, - To)/ T,

C) T, /(Tc+T,)

D) T /(T +T,)

E) (T, -T)/(Tc+Ty)
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